9.781:
4895:5
6.548 :
7.123:3
5.601:
1578 :5
9.449 .
3.078:
4735:
9.660:
4495:9
8.478 : 4
7.225:
6.035:
3.135:
7.361:
1.240:
5.813:
6.995 :
3.774:5
8.089 :
4681:6
7.721:
2.562:
8.379:
3.061:2
9.122:
7.976:
5.366:
4283 :

68.159 : 6 =
63.673:5=
46.966 : 2 =
64.581: 2 =
69.949 : 8 =
44718 :9 =
10.750: 7 =
48.099:3 =
96.767 : 4 =
62578 : 4 =
49945 : 3 =
26.882:9 =
50.045:7 =
40.132: 6=
10436 : 2 =
53.885:8 =
46.369 :7 =
36.660:5 =
65.762 : 2 =
70.969 : 6 =
25.996 : 4 =
19904 : 5=
64.326 : 7 =
52.384:5+=
64.189: 9 =
29.040: 6 =
15152 : 8 =

47238 : 6=
84.761:9 =
96.151: 5=




DIVISIONI ENTRO IL 99.999

Metti in colonna e calcola con la prova:

1) 3652:8-=
3.260: 4=
1770: 2 =
5.686 : 9 =
6.692: 6 =

2) 4647 : 2=
8.294:9:
3614:4=
4960:7 =
3.300:5 =

4) 9367:7 =
4.039:8=
7.761:9=
5313:6=
1746 : 5 =




DIVISIONI ENTRO IL 99.999

Metti in colonna e calcola con la prova:

1) 64.885:5 =
57.565 : 6 =
67.205:5 =
68.648 : 3 =
78.752 :

3) 61.119: 6 =
69.157 : 2 =
40.880 : 6 =
95.876 : 6 =
91.209: 9 =

4) 79.965: 5 =
43.456 :5 =
76.741: 3 =
78.115: 6 =

61762 :2 =
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